-D0OLE S
POWER-POLE >

SWIFT. SILENT. SECURE.

r—

BOLT SET FOR 5/16"” KNUCKLE (UPPER & LOWER)

INSTRUCTIONS

Hardware (Included): Installation Tools: A

A. (2)5/16" x 3-1/2" Bolts * 1/2" Socket with Ratchet .
B. (8) Large Bushings * 1/2" Wrench I . ‘ m
C. (4) Small Bushings For 1/4” Knuckles: -

D. (4) Thin Washers  3/8" Drill Bit

E. (2) 5/16" Thin Lock Nuts * Electric Drill

B C D z
WARNING: Never touch spike with bare hands. @ &
NOTES: ° v

* Remove old hardware and follow diagram to install new hardware.
* Tighten nuts flush (E) with end of bolt using 1/2" socket & wrench.
* |If existing Power-Pole Knuckle has 1/4” bolts; drill out with 3/8” drill bit.

Installation Diagram B (x2)

B(x2)
A D\ ¢ \ / CD E
e—==i 0 ¥/
> > -,"\ > YU
KNUCKLE
JOINT
1/2" socket & wrench ’

Need help? Contact our Technical Support Team at 1 + 813.689.9932 Option 2

R 9010 Palm River Road, Tampa, Florida 33619
JIMarine hone 813.689.9932 « fax 813.689.8883 * power-pole.com
@00 m s ©2018 all rights reserved. Power-Pole Shallow Water Anchor U.S. Patent No. 6,041,730



